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Exercise 2.5
Question 1:

Solve the following linear equation: f—% = % +

#. Answer 1:

1
4

x 1 x 1
i e
2 5 3 4
xr x 1 1 3x—2x 5+4 x 9 Ox6 27
=4 = —— === = = —
2 3 45 6 20 6 20 20 10
To check:
xr L x 1
—_—— =4
2 5 3 4
27 1 27 1 27 1 9 1 27—4 18+5 23 23
e — + — —_———— ——t— T —,— = = —=—
10x2 5 10x3 4 20 5 10 4 20 20 20 20
= L.HS.=R.H.S.
Therefore, it is correct.
Question 2:
Solve the following linear equation: E—%” +% 21
€. Answer 2:
E_ﬁ_ks_n:z'l
2 4 6
:>611—911+10n=2] :E=2] :>H=21><12 =
12 12
To check:
E_ﬁ.f..s_n:zl
2 4 6
= 3_26—3:36+5"636=21 —18-27430=21 =21=21

= LHS.=R.H. 5.
Therefore, it is correct.

Question 3:

Solve the following linear equation: x+7— 8; = % —%
€. Answer 3:
8x 17 5x
xX+7T——=—-—=
3 6 2
x 8 5x 17 7 6x—16x+15x 17-42
—_—_t = = —
1 3 2 6 1 6 6
5x =25 —25%x6
= . = X= = x=-)
6 6 6x5
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To check:
8x 17 5x
hf— m——
3 6 2
8x(-5 -
= M5+7H$:£HM :}2+£=.1_.7.+§
3 6 2 3 6 2
6+40 17+75 46 92 46 46
= = —=— = —=—
3 6 3 6 3 3

= LHS.=R.H. 5.
Therefore, it is correct.

Question 4:

Solve the following linear equation: XT_S = XT_?’
€. Answer 4:
x—=3 _x=3
3 5
= 5x(x—5)=3(x-3) = 5x—25=3x-9
= 5x—3x=-9+25 = 2x=16 = x=%=8
To check:
F=3 %x=3
3 5
, 8-5_8-3 L35 oy
3 5 3 5
= L.HS.=R.H.S
Therefore, it is correct.
Question 5:
Solve the following linear equation: —— 2t;3 =§—r
#. Answer 5:
3-2_2+3_2
4 3 3
3t-2 2t+3 2 3(3t—2)-4(2r+3)+12r 2
= —_—- +r== = ==
4 3 3 12 3
Ot—6—8t—12+12t 2 13r—18 2
— == = = —
12 3 12 3
= 3x(131ﬁ18)=2x12 = 30t—-54=24 = 39t =24+54
= 39t=178 =% r=7—8=2
39
To check:
3:—2_2r+3 _z_t
4 3 3
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Question 6:
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3x2-2_2x2+3 _2

6-2 4+3_2-6

==
+ 3 3 4 3 3

4 7 —4 1 7 —4
e - - =
4 3 3 1 3 3
3-7 4 |
_— = — = —

3 3

3 3
L.H.S. = R. H. S. Therefore, it is correct.

_ 3
5x3

Solve the following linear equation: m— m-1 =]1- m; 2
#. Answer 6:
m—1 m—2
m-— =1-
3
- ﬂ_m—l_l_ﬁrr—Z:1 - 6:11—3(1!11—1)+2(1*11—2):l
1 2 3 6
— 6m—3m+3+2m—4:] :>5m_]=1 = S
6 6
= Sm=6+1 => Sm="7 =m=—
To check:
_m.—l _l_m—2
2 3
7 7 7-5 7-10
7 57 577 5 : 7 2
= Eoen f— - LY H-| i
5 2 3 2 3 5 5x2
7 1 1 7-1 5+1 6 6
———=14- = — = = —=—
5 5 5 5 5 5 5
= L.HS.=R.H.S.
Therefore, it is correct.
Question 7:
Simplify and solve the following linear equation: 3(r—3)=5(2¢+1)
#. Answer 7:
3(t—3)=5(2t+1)
= 3r—9=10t+5 = 3t—-10r=5+9 = -Tt=14
14
t=— =>t=-2
-7
To check:
3(¢—3)=5(2t+1)
= 3(-2-3)=5{2x(-2)+1} = 3x-5=5(-4+1) = -15=5x(-3)
= —15=-15 = L.H.S.=R.H.S.

Therefore, it is correct.
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Question 8:
Simplify and solve the following linear equation: 15(y—4)-2(y—-9)+5(y+6)=0

€. Answer 8:
15(y—4)-2(y-9)+5(y+6)=0  =15y-60-2y+18+5y+30=0
)

2
= 18y—12=0 =18y=12 :b\,':l—“ = y=—
18 B

To check:
15(y—4)-2(y-9)+5(y+6)=0

2 — -
= 15(:—4j—2[3—9]+5[3+6)=0 = 15[£)—2[2 27},5(2“8):0
3 3 3 3 3 3

-10 25 _ 20 50 100

= ISx——-2x——+5x—=0 = -50+—+ 0
3 3 3 3

= _sp il _g - —50+%=0

s 250+50=0 =0=0 — LHS. =R.H.S.

Therefore, it is correct.

Question 9:
Simplify and solve the following linear equation: 3(5z—7)—-2(9z—-11)=4(8z-13)-17

#. Answer 9:

3(5z-7)-2(9z-11)=4(8z-13)-17 = 15z-21-18z+22=32z-52-17

= -3z+41=32z-69 = B82=32z=-69-1 = -35z=-70 :>z:_—7(5):2
To check:

3(52-7)-2(9z-11)=4(8z-13)-17 =3(5x2-7)-2(9%x2-11)=4(8x2-13)-17

= 3(10-7)-2(18-11)=4(16-13)—17 = 3x3-2x7=4x3-17

= 9-14=12-17 = =5=-5 = LHS.=RH.S.

Therefore, it is correct.

Question 10:
Simplify and solve the following linear equation: 0.25(4 f —3)=0.05(101-9)

#. Answer 10:
0.25(4f —3)=0.05(10 —9)

= 1.00f -0.75=0.50-0.45 = 1.00f-0.50 f =-0.45+0.75
0.3
= 050f=0.3 = f=—_ = f=0.6
4 4 0.50 d
To check:
0.25 (4_f -3) = 0.0S(IOf -9) = 0.25(4x0.6-3) = 0.05(10>< 0.6—9)
= 0.25(2.4-3)=0.05(6.0-9) = 0.25x(-0.6)=0.05x(-3)
= —0.150=-0.150 =LHS.=R.H.S.

Therefore, it is correct.

www.tiwariacademy.com
A Free web support in Education

4



